
Munitions India Limited
A Government Of India Enterprise

Ministry Of Defence
Pune, Maharashtra

CENTRALISED VENDOR REGISTRATION CERTIFICATE

This is to certify that M/s LAXMI ENGINEERING WORKS, E-515, SECTOR 23 SANJAY NAGAR SECTOR-23, SANJAY NAGAR

GHAZIABAD Uttar Pradesh is registered at Munitions India Limited for following Items.

 

Sl.
No.

Factory / Unit Item Nomenclature Initial Date of
Registration

1 Ordnance Factory Dehradun CELL TO DRG NO MCT 3237 FOR D7[74] 16-07-2019

2 RING LOCKING TO DRG NO IRDE 335 7[74] 16-07-2019

3 SLEEVE OBJECT GLASS AS PER DRG NO IRDE

335 3[74]

16-07-2019

4 RING SECURING AS PER DRG NO IRDE 335 75[74] 16-07-2019

5 PIN THREADED SPECIAL SIDE AS PER DRG NO

IRDE 335 77[74]

16-07-2019

6 PIN AS PER DRG NO IRDE 342 5[74] 16-07-2019

7 STOP PLATE AS PER DRG NO IRDE 335 80[74] 16-07-2019

8 SLEEVE LARGE AS PER DRG NO IRDE 335 31[74] 16-07-2019

9 SPACER OPTICAL ELEMENT AS PER DRG NO

IRDE 1159 8[74]

16-07-2019

10 NUT PLAIN HEXAGON AS PER DRG NO IRDE 335

52[74]

16-07-2019

11 RETAINER OPTICAL ELEMENT AS PER DRG NO

IRDE 335 6[74]

16-07-2019

12 NUT TO DRG NO MCT 2451[74] 16-07-2019

13 PLATE BEARING TO DRG NO MCT 1118 2 FOR

SIGHT UNIT CASED 102B[74]

16-07-2019

14 CELL GRATICULE TO DRG MCT 1143 1 FOR

SIGHT UNIT CASED 102B[74]

16-07-2019

15 SCREW DRG NO MCT 1125 1[74] 16-07-2019

Page 1/6



16 NUT PLAIN ROUND IRDE 1175 30[74] 16-07-2019

17 RING TO DRG NO MCT 3248 FOR CLINOMETER

2A 46[74]

16-07-2019

18 SLEEVE TO DRG NO MCT 3249 FOR

CLINOMETER 2A 46[74]

16-07-2019

19 COVER OF LEVEL TO DRG NO MCT 3252 FOR

CLINOMETER 2A 46[74]

16-07-2019

20 CONTAINER AS PER DRG NO IRDE 335 68[74] 16-07-2019

21 BUSHING SLEEVE AS PER DRG NO IRDE 335

76[74]

16-07-2019

22 STOP APERTURE AS PER DRG NO IRDE 335

48[74]

16-07-2019

23 CELL RETICLE DRG NO IRDE 2605 16[74] 16-07-2019

24 RING RETAINING TO DRG. NO. MCT-2939/2 FOR

HR BINO 8X30R[74]

16-07-2019

25 STUD DRG.NO.CQA(I)-46/2[74] 16-07-2019

26 WASHER FLAT AS PER DRG NO IRDE 1159 9[74] 16-07-2019

27 CAP PROTECTIVE DUST AND MOISTURE

SEAL[74]

16-07-2019

28 RING RETANING FOR HRBINO 8 30R[74] 16-07-2019

29 RING RETAINING TO FOR HR BINO 8 30 R[74] 16-07-2019

30 RING RETAINING TO DRG NO MCT 2946 2 FOR

HR BINO 8X30 R[74]

16-07-2019

31 BINOCULAR SCREW DRG NO MCT 2936 2 FOR

HR BINO 8X30R[74]

16-07-2019

32 RING RETANING TO DRG NO MCT 2921 2 FOR HR

BINO 8X30R[74]

16-07-2019

33 SCREW MACHINE CSK HEAD SIZE M4X5 LONG

BRASS CONFIRMING TO IS 1365[17]

16-07-2019

34 SCREW MACHINE CSK HEAD SIZE M4X18 LONG

BRASS CONFIMING TO IS 1365[17]

16-07-2019

35 SCREW MACHINE CSK HEAD SIZE M6X9 LONG

STEEL CONFIRMING TO IS 1365[17]

16-07-2019

36 SCREW MACHINE CSK HEAD SIZE M6 X 15 LONG

STEEL 5S IS 1365[17]

16-07-2019

Page 2/6



37 SCREW MACHINE CHEES HEAD SIZE M6X12

STEEL TO IS 1366[17]

16-07-2019

38 SCREW GRUB CONICAL END SIZE M4X6 STEEL

CONFORMING TO IS 2388[17]

16-07-2019

39 SCREW SOCKET CAP HEXAGONAL HEAD SIZE

M4 X 16MM LONG STEEL IS 2269[17]

16-07-2019

40 SCREW HEXAGONAL HEAD SIZE M6X15 LONG

STEEL IS 1364[17]

16-07-2019

41 SCREW METRIC SLOTTED CH HD WITH BLACK

BRONZING IS 1366 BRASS[17]

16-07-2019

42 RING EXTERNALLY THREADED AS PER DRG NO

IRDE 2605 28[74]

16-07-2019

43 RING SPECIAL AS PER DRG NO IRDE 2605 13[74] 16-07-2019

44 SPACER OPTICAL ELEMENT TO DRG NO IRDE

2605 5[74]

16-07-2019

45 ADAPTER FLANGED EYE SHIELD AS PER DRG

NO IRDE 2605 30[74]

16-07-2019

46 RING RETAINING OPTICAL ELEMENT TO DRG NO

IRDE 2605 43[74]

16-07-2019

47 NUT PLAIN ROUND AS PER DRG NO MCT

3012[74]

16-07-2019

48 HALF ROUND HD SCREW M S CD PLATED FOR

TNP 65A[17]

16-07-2019

49 WASHER B IS 5370 BRASS[17] 16-07-2019

50 RING RETAINING OPTICAL ELEMENT TO DRG NO

IRDE 2603 14[74]

16-07-2019

51 RING RETAINING OPTICAL ELEMENT TO DRG NO

IRDE 2603 32[74]

16-07-2019

52 CSK SCREW STEEL M3X5 MM[17] 16-07-2019

53 SCREW DRG NO MCT 2654 1[17] 16-07-2019

54 RETAINING TO DRG NO IRDE 2023 38 MCT1493 1

FOR GNVP[74]

16-07-2019

55 RING RETTIANING OPTICAL ELEMENT TO DRG

IRDE 2001 7 MCT 1474 FOR BNVP 101A[74]

16-07-2019

56 CAP LID TO DRG NO MCT 3251 FOR

CLINOMETER 2A 46[00]

16-07-2019

Page 3/6



57 SCREW SPECIAL DRG NO MCT 1137 1[74] 16-07-2019

58 SCREW BA ROUND HEAD[74] 16-07-2019

59 COLLER TO DRG OS 12327[74] 16-07-2019

60 HEAD DRG OS 13615 MCT 2833[74] 16-07-2019

61 BUSH TO DRG OS 13616 MCT 2834[74] 16-07-2019

62 NUT TO DRG NO MCT 2487[74] 16-07-2019

63 NUT CLAMPING AS PER DRG NO MCT 3163[74] 16-07-2019

64 SOCKET AS PER DRG NO MCT 3189[74] 16-07-2019

65 WASHER TO DRG MCT 3114 1 FOR SUC 102B[74] 16-07-2019

66 CELL DRG NO MCT 1161 3 FOR SIGHT UNIT

CASED 102 B[74]

16-07-2019

67 WASHER TO DRG MCT 1126 2 FOR SIGHT UNIT

CASED 102B[74]

16-07-2019

68 NUT LOCKING SPECIAL DRG NO MCT 3112 FOR

SIGHT DIAL 104A[74]

16-07-2019

69 HOLDER DRG IRDE 1175 45 SHT 2 FOR SIGHT

DIAL 104A[74]

16-07-2019

70 RING RETAINING TO DRG NO MCT 3238 1 FOR

SIGHT DIAL 104A[74]

16-07-2019

71 SUPPORT DIAL SCALE TO DRG NO MCT 3243

FOR SIGHT DIAL 104A[74]

16-07-2019

72 KNOB TO DRG NO MCT 3245 FOR SIGHT DIAL

104A[74]

16-07-2019

73 RETAINER TO DRG NO MCT 3240 1 FOR SIGHT

DIAL 104A[74]

16-07-2019

74 BEARING DRUM TO DRG NO MCT 2901[74] 16-07-2019

75 SPACER RING AS PER DRG NO MCT 3270 FOR

SIGHT DIAL 104A[71]

16-07-2019

76 SCREW TAPPING THREAD CUTTING TO DRG NO

MCT 1144 2 FOR SIGHT UNIT CASED 102B[74]

16-07-2019

77 BUSHING BLANK MCT 1113 2[74] 16-07-2019

78 TUBE LEVEL INDICATOR AS PER DRG NO MCT

3250 SHEET NO2[74]

16-07-2019

79 BUSH AS PER DRG NO CWC 229 77 1[74] 16-07-2019

Page 4/6



80 SCREW SOCKET CAP HEXAGONAL HEAD SIZE

M4X18 LONG STEEL CONFIRMING TO IS 2269[17]

16-07-2019

81 SCREW GRUB SLOTTED CONICAL END STEEL

WITH CADMIUM PLATING IS 2388 MAKE LPS[17]

16-07-2019

82 SCREW GRUB SLOTTED HEAD LONG STEEL

WITH PHOSPHATE PLATING AS PER IS 2388

CONICAL END[17]

16-07-2019

83 SCREW METRIC CH HEAD STEEL M3X20MM

LONG IS 1366[17]

16-07-2019

84 RD HD MC SCREW M2X3 BRASS FOR SUC

102B[17]

16-07-2019

85 PIN CYLINDRICAL STEEL 2 H 8X6MM LONG FOR

S DIAL 104A[17]

16-07-2019

86 SCREW GRUB SLOTTED C TYPE FINISH CAD

PLATING IS 2388 STEEL[17]

16-07-2019

87 SCREW GRUB SLOTTED HEAD CONICAL HEAD

WITH CADMIUM PLATING STEEL SIZE AS PER IS

2388[17]

16-07-2019

88 SCREW GRUB SLOTTED CONICAL END STEEL

SIZE M3X3 MM LONG AS PER IS 2388 1971[17]

16-07-2019

 

Registration No. : AIYPC8208Q

Initial Date of Registration : 16-07-2019

Downloaded at : 01/07/2024 10:23 am

 

Conditions of Registration:

1. This Registration has been carried out based on self-declared documents furnished by Vendor.

2. Changes, if any, in Address or constitution of the Firm, major Machinery/Equipment or Technology should be intimated to the

Registration Authority immediately.

3. The Registration Authority reserves the right to cancel this Registration Certificate at any time.

4. Registration will be valid for 05 years with automatic renewal unless cancelled on account of administrative reasons.

 

 This is a system generated certificate. Hence no separate signature is required.

 

Page 5/6



participation in Tender process only.

NOTE: It is only a registration of vendor. It does not grant any special supply status to the Vendor. It is for the purpose of 

 

Powered by TCPDF (www.tcpdf.org)

Page 6/6

http://www.tcpdf.org

